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(BTKEXAS FEW/Cl =175 T 2560 X C/W
W/C = 26.9 = (30.0 + [7.5) X 100 = 56 %
W/C = 586 %
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(BYHEAI A & (C) C =W= (W/C) X 100 = 154 = 56 X 100 = 275 keg/m
Cv=C + BE = 275 + 3.04 = 90 L/m
(6) ze& & (A) A = 45 % X 1000 = 45 L/m
(N HEHEZ (s/a) TTEOERICLD s/a = 447 %
(8) HArHEME (S) Sy = (1000 — W+Cv+A)) X s/a = 71l X 44.92 % = 314 L/m
S = Sy X REEE = 314 X 2.60 = 816 kg/m
SI = S X 500 % = 408 kg/ni
S2 =S X 500 % = 408 kg/m
(9) BATHBEME (G) Gv = 1000 — (W+Cv+Sv+A) = 1000 — 603 = 397 L/m
G = Gv X FEEE = 397 X 2.72 = 1080 ke/m
Gl =G X 2000 % = 216 ke/m
G2 =G X 40.0 % = 432 kg/m
Gy = G X 40.0 % = 432 kg/m
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